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General Instructions : . . A and B. You are to attempt both the

sections.
.ons are compulsory
§ :llu qu::Z: of Secti:n-A and all questions of Section-B are to be attempted separately. '
4 nguﬁon numbers 1 to 3 in Section-A are one mark
' word or in one sentence )
5 g:m ,-?.L:berstltof'inSedions-Aare two marks questions. These are to be answered
i about 30 words each. _
6 &esﬁonnumbem7m18in5ecﬁon-Aarethreemarksquestmns. These are to be
- ered in about 50 words each .

7 Suumw- numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each. _ .

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you. . .

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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Mention the raw materials required for photosyn

et i 3 G A 4 1 3 W

Draw a diagram to show uniform magnetic field in a given region.
wa
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Name the two main combustible components of biogas.
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Consider the following chemical reaction :

x + Water — Slaked lime

(@)  Write the chemical name of 'x' and the type of reaction that occurs.

(b)  Write chemical equation of the reaction.

mmmﬁmmwmﬁmﬁmm|

Differentiate between roasting and calcination Processes by giving one example of each.
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Explain the following terms :
()  hydrotropism

(@)  geotropism

7 ﬁqﬁmaﬁfﬁmﬂﬁﬁmmwmaﬁmmmﬂwﬁgﬁanmﬁwa
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Give one example each of the following decomposition reactions. Write one balanced
chemical equation in each case :

(1) The reaction which occurs on passing electric current.

(ii) The reaction which occurs in the presence of sunlight.

(iiii) The reaction which occurs on heating of a substance.
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A compound ‘X’ is a constituent of baking powder. It is used as an antacid. When ‘X’ is heated it gives
out a gas Y which, when passed through lime water turns it milky and salt ‘2’ is formed which is the
main constituent of washing powder. identify X, Y and Z. Write balanced chemical equations for the

reactions involved.
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Nametwommlsinnchofthefolbwingases:

X1
()] Metals that are stored in kerosene. ( ‘ e N
(W) mumummedm|ronmmakestainbsssteel- e I
(i)  Metals which are highly malleable and ductile x
—~ At \ "L CA
wra 8? 3
10 () U e o frerm v @ A i 3 oRafia w0 E v e =1 pH ¥ @

®) 10 mL Ve EvglrE P w8 mL TS 9 ¥ 1 TR
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(a) A solution tumns red litmus paper to blue. What can be pH of this solution ?

;:b) 1!;: r;;;l.ao-fd socIi;um hydroxide solution is completely neutralised by 8 mL of solution of
t,"ljfdr'cn:hl'3 ) f: . If we t.ake 20 mL of the same solution of sodium hydroxide, what will be
amount of hydrochloric acid solution required to neutralise it ? ’

(c) What type of medicine is used for the treatment of indigestion ?

1 Frefle & g s faf -
(i) mmﬁmﬁﬁmwmmm
e ﬁmmﬁﬁm*mwﬁmmzﬁﬁm%mmﬂQt
|

State reason for the following :

(i) The inner wall of the alimentary canal is not digested
ested,

()  Valves are present pe
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(i) Midbrain ()  Pieuitary giand

(i) Cerebellum v Coais
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"As the blood sugar level in our body falls insulin secretion is reduced”. Justify this statement

in the reference of feedback mechanism that regulates the timing and amount of hormone
released.

7 i, fad wle w1 wfidy 20 @ 3 v 91 {0 A oftew § gvig sgar it R me #) 3
A= A &t 7= faga W TN & 2 0 WRduE F il F i v dRestem st

20
20

e

3V
Three resiswrsonQeachareconnectedtoabatteryofBVasshown.Calculateﬁ\emt
drawn from the battery and voltage across the 2 (1 resistor.

20
20
20 W,
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i i 507
(a) Whatwillbethclengthofthismretonukearemsm

i led ?
(®) How much will the resistance change if the diameter of the wire is doub
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Shyam's father is a builder. While working on a project of developing a residential complex he
ensured that the surrounding was made green by planting trees. Also he installed solar water
heaters on the roof tops and solar panel for lighting streets of the complex at night

(a) Explain two values exhibited by shyam’s father.

(b) By opting for solar panel and solar geysers in the residential complex how has
Shyam'’s father made all the future residents of the complex contribute to save energy crises.

18 Mﬁmmqlwﬁiﬂaﬂﬁmﬂﬁhmﬂﬂﬂ@maﬁ%mmm 3
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(®)
faera A : [H*] < [OH"]
fae T B: [H*] > [OH "]
::a)se In a tabular form write the colours of the following indicators in presence of acid and
Litmus solution, phenolphthalein solution, methyl orange solution.
(®) ClnaifythefouowinggivensoluﬁomAandBinacidicandbasic, giving reason.

Solution A : [H*] < [OH"]
Solution B: [H*] > [OH"]

deiferan (T W@ 12) 3R SERASE (WHY F@A1 8) 1 sevagi faaw fafed @ F s
AR R difoan sfeare &1 i a9 91 9 ey # YER fafed | @ YR

smafya frel F FE A vifas o7 FRO |iga TEEEd |

Write the electronic configuration of magnesium (atomic no. 12) and oxygen (atomic no. 8)
and explain the formation of magnesium oxide by electrons transfer of State the type of bond
formed. Explain with reason two physical properties of compounds formed by this bonding.

wHa § gia A7 #1 frafafy aaamgd | S 3 16 w1 fafmg fFe R dm 2 wra e A waw 5
T TR TE-AHERE 1 F oW R ? '

Describe the mechanism of breathing in humans. How does the exchange of gases occur in
tissues? What happens to the carbon dioxide which is collected in human tissues ?
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State Ohm’s law. Write the necessary condition for its v:.l ) s and current
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rticle (alpha) projected towards west is deflected towards
ection of magnetic field. State the rule used by you to

()

(a) A positively charged pa
north by a magnetic field. State the dir

find the direction.
() Mention the factors on which the strength of forces experienced by a current carrying
conductor placed in a magnetic field depend.

() Under what condition is the force experienced by a current carrying conductor placed

in a magnetic field maximum ?
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RRATFETY F1 JUF FHT | FE it TAFY fR 4 @t fam A Sopfie FR W pESE & 91 fam oft

Iepfaa & 9 &)
) fret wewmm e &1 § A9 faa 2 SIER & F T B w9, (A
vAafva U 2) Y3y T &1 Wi W @ 3eerE w g Sre #ifve fw g siewm s v e

fem & nfq wym 7

Page 8 of 1§
http://jsuniltutorial.weebly.com/



http://jsuniltutorial.weebly.com/

N

>
REN A w9
>

—

4

(a) Describe an activity to determine the direction of magnetic field produced by a current
carrying straight conductor. Also show that the direction of the magnetic field is reversed on
reversing the direction of current.

(b) An a-particle, (Which is a positively charged particle)
enters, a uniform magnetic field at right angles to it as shown below. Stating the relevant
principle explain in which direction will this a-particle move ?

I — »

a-particle

» Magnetic field

e
—_—

W-®/SECTION - B
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in the
nd their pH values
obtained on pH paper 3
Which of the following is correct about the colour

iolutbnutenmmttuhes&laﬂdCrupecﬂWty?

;

Dil sodium hydrogen  Dil hydrochloric Water
carbonate solution aad
I ] A 8 [
[ (a) [ Blue, 10 Red, 2 Green, 7 \/
(b) Red, 2 Blue, 10 Green, 7
(c) Green, 7 Red, 2 Blue, 10
(d) Blue, 2 Red, 10 Green, 7

26 fret o1 A R T WA faead ¥ T 97 e oo, A9 # W, 99 am 9 afsam 1
TESIFRE &1 pH 7 f&a11 393 3 Qe fpg -

(1) T EEEERNE 3 3 pH IR &1 1 e F e aen 3w e pH A 2 8

(2) FLF W pH IR F T TRN e o I@H A pHER 4 B

(3) 9 A pH IR FT {7 Fien 3 & a9 IGH T pH AR 9 )

(4) o7 WifEam EEFRERE 3 pH A F 11 T Fen W e A swE @ pHAH 14 %
YT o ¢

(@ 1 (b) 2 () 3 d 4
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A student determined the pH of the solutions of samples dil hydrochloric acid, lemon juice, water ang
dil. sodium hydroxide. He made the following observations :

(1) dil. hydrochloric acid changed the colour of pH paper red and its approximate pH value is 2
2) lemon juice changes the colour of pH paper into orange and its approximate pH value is 4.
(3)  Water changes the colour of pH paper blue and its approximate pH value is 9.

(4) dil. sodium hydroxide changes the colour of pH into deep blue and approximate pH value is 14,

The incorrect observation s :
@ 1 @ 2 m/ d 4

27 & o™ X 9 HCl %t fiF ¥ W9 aw HCl 3 Na,CO, ¥ 1w sfufirn &1 s fvan el €O, !

T Hy & TN 1 qorn 11§ Jarw @om - fF COp 3R H A & -
@ wTdEn ®) & Face E / \
€ @R d) ag A WA ¥

A student studied reaction of HCl with zinc and of HCl on NaxCO3 and compared the
properties of CO2 and Hz. Correct observation should be that both CO2 and Hj are :

(a) pungent in odour (b) non flammable

Mo]ourless (d)  heavier than air

8 A 3wy fael F @ 39 weEafedl ) veenfe frad w9 sifufean w1 o -
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Disha took two iron nails and put them in aluminium sulphate solution. After sometimes she
observed that :

(a) the solution becomes warm

(b) grey-metal is deposited on the iron nail

(c) the colourless solution changes to light green

@)/ solution remains colourless and no deposition is observed on the iron nail.

30 & Ifqg ¥ HH9: m,zn,sn,unnﬁmw#anuﬁmumn}vhmﬁm\ﬁmmwtlm 1
2R aren ey gfady @ gFar €

@ 210 b) 180 @ 60 (d 40

In a circuit four resistors of 10, 2 €1, 6 ), 12} respectively are connected in series combination.
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o an ®) 180 ©

R 3R R, 7w & 2 arl ®) wwrw wn F A v W@ wEeE w e iy §-

(a) RiR2/Ri+R2
(b) Ri+R:
© Rk

(d Ri/R:
Two wires of resistances R; and R; are joined in parallel. The equivalent resistances of the
combination is —

@ RiRy/Ri*R;

(b) Rtk
©  Roks
(d) Ri/R:

‘AR F M T aEEE R F MY mdmt e v B @A 7 1

Furen 3 X2

(@) e avie Rraf @ oA €
®) v = dea @ o ¥

€ vt faopfea @ st &

(d) e qomEw @ et
In the experiment to show that light is necessary for photosynthesis, what happens when leaf

is boiled in ethanol ?
(q_..éﬂ_omPMt pigments dissolve.
(b)  The leaf is de-starched.

(0 The leaf is sterilized.

(d)  Leaf becomes soft.

33, ‘v® % WA CO, Il Bt ' ol F frd T Y wrifires Ve o179 foray
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(a) U - & 37wRr w1 Prra Toft
®) T W g wE
(©) ey

(d) KOH fae Y waeh

Ti :
ina arranged the set - up to show experimentally that 'CO; is given out during respiration' :

Rubber cork .

water

germinating seeds

The above set up did not give Tina the des; -
is : 3 = = desired result. The issing component in the set - up

(a) U - shaped delivery tube
(b) One - holed rubber cork
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water
f::/.r st - tube containing KOH solution
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When an iron nail, rubbed with sand paper, is dipped in copper sulphate solution, what two
observations wouldyoumakeaftersometin‘ne?
ﬁwﬂnﬁiﬂwamﬁam(naﬁmﬁmvﬁwmmﬁﬁmmmmtm% 2
mMmmﬁmﬁqﬁmwm#wﬁA,a,cmommmr
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Lo dy— —_()—
D

ws the following circuit diagrams for the experiment on studying the

dra
A potential difference (V) across a resistor. Name the parts labelled

dependence of current (I) on
as A, B, C and D in the diagram.

o |
l'__j"_{,‘:,:._*. ._...(.)___J
D

uﬁqﬁtﬁawﬂaﬁ@ﬁﬁﬁﬁmmmﬁmq&ﬂﬂﬁﬂﬁﬁ?ﬁaﬁmﬁm 2

e & 4 Aftga fafe= il 1 Te=f
Identify the observed various parts of temporary mount of well stained leaf peel,

focussed under the high power of a microscope.
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